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Name: Period:

Algebra I Semester 1 REVIEW
What is an algebraic expression for the word phrase?

1. the sum of f and 2

2. the difference of m and 8

3. the product of @ and 12

4. the quotient of n and 5

5. 4 times the sum of # and w

What word phrase can you use to represent the algebraic expression?

6. 6x+8
a. the sum of six times a number x and eight c. eight times the sum of a number x and six
b. six times the sum of a number x and eight d. anumber x times the sum of six and eight

7. Evaluate (ab)’ fora=9 and b = 5.

What is the simplified form of each expression?

8. 144



10.

11.

12.

13.

14.

To which subsets of the real numbers does the number 0.54 belong?
a. rational numbers, irrational numbers

b. rational numbers

c. natural numbers, whole numbers, integers, rational numbers

d. none of the above

7
5’

a. «/?,«/5,0.4,—%,—0.5 c. —0.5,0.4,«/5,«/—,—%
b, 0.4,«/5,—%,«/&—0.5 A L 050425

5

What is the order of «/g ,—0.5,——=,04, «/3 from least to greatest?

Simplify each expression.

8+10y)+3

a. 8+13y b. 11+10y c. 11+13y d. 21y
Simplify.

-9(10a)

a. —90 b - d —ia
. a . a c. —a . 10

What is the simplified form of each expression?

%(—3171 +39)

What is the simplified form of each expression?

1.7m* +6.5n —4n +2.5m* —n



15.

16.

17.

18.

19.

20.

21.

What is the solution of each equation? Use mental math.

x+1=21

W=
Il
|

What is the solution of the equation?

-S=u+2

a. -7 b. -3
6=4d

a. 1.5 b %

What is the solution of the equation?

6=—d+19

x—=T7T=-

What is the solution of the equation?

2 +z

-25 =
-5

10

[N RV

2.5



What is the solution of the equation?

22. -1=8-10-7p

23, 6y + 14 + 4y = 32

What is the solution of the equation?

24. 5(y—6)=-15

What is the solution of the equation?

25. 4x+7=5x+3

26. 40-5t=3t

What is the solution of each equation?
27. 14-9z2=-5-9z
a. -1 b.

infinitely many
solutions

What is the solution of the proportion?

23 d
28. 26 104
a. 2704 b. 598

. 1
c. no solution d. —118

c. 2392 d 92



29.

30.

31.

32.

33.

34.

P Rs
o=

144 b. 96 c. 384 d. 64

What is the solution of the proportion?

x—2
8

oo

A van travels 200 miles on 10 gallons of gas. Find how many gallons the van needs to travel 400 miles.

What inequality represents the verbal expression?

all real numbers greater than or equal to 29
a. x>29 b. x<29 c. x=29 d x<29

Which number is a solution of the inequality?

8> 8w
a. 11 b. 2 c. 1 d 18
11 <8 -1
3 1 1
a. 3 b. 3 C T d 1



35.

36.

37.

38.

39.

40.

What is the graph of the inequality?

n<-4
a. —e —— s, O
5 4 -3 2 -1 0 1 2 3 4 5 -5 4 3 2 -1 0 1 2 3 4 5
b < 9, T T T T T T T T T d < - } } } } } } } } }
5 4 3 2 -1 0 1 2 3 4 5 -5 4 3 2 -1 0 1 2 3 4 5
x<-=3
I } 1 I e \ C. / - 1 1 1 1 1 1
—t—t— ; > € gO———+————F—+—+——+
10 8 6 4 2 0 2 4 6 8 10 10 8 6 4 2 0 2 4 6 8 10
b. & ——————————+—+— d e o e ST
-10 8 6 4 2 0 2 4 6 8 10 108 6 4 2 0 2 4 6 8 10 °

What are the solutions of the inequality? Graph the solutions.

x —2< -6

What are the solutions of the inequality? Graph the solutions.

X
=>7
9

What are the solutions of the inequality? Graph the solutions.

25 <-10

What are the solutions of the inequality? Check the solutions.

2x+8<-4



41.

42.

43.

44,

45.

Which is a solution of the inequality?

T(w—4)>42

What are the solutions of the inequality?

6+ 10g > 4(q + 6)

19k —4 <20k +7

What are the solutions of the inequality?
—10x+5+13x>3x+6

a. x=>-1 c. all real numbers
b. x<1 d. no solution

What compound inequality represents the phrase? Graph the solutions.
all real numbers that are greater than —8 and less than 8

a. —-8<x<8

B — — . —
8 6 4 2 0 2 4 6 8
b. 8<x<8
«—0 — *—>

8 -6 4 2 0 2 4 6 8

c. —-8<x<8

S S 2
8 6 4 2 0 2 4 6 8
d -8<x<8
«—o — o—>

8 -6 4 2 0 2 4 6 8



all real numbers a that are less than —1 or greater than 7
a. a<-lora=>7

l L Nl 1 1 1 ’ L \
— O—+——+—+ : L
-14 -12 -10 8 -6 4 -2 0 2 4 6 g8 10 12 14 16 18 20 22
b. a<T7ora>-1
pan N N N\
-14 -12 -10 8 -6 4 -2 0 2 4 6 g§ 10 12 14 16 18 20 22
c. —1<a<7
O O+——+—+—+—+—+—+
-14 -12 -10 8 -6 4 -2 0 2 4 6 g8 10 12 14 16 18 20 22
d a<-lora>7
pan N N L~ N N 1~ N N\
— O—+——+—+O : L
-14 -12 -10 8 -6 4 -2 0 2 4 6 g8 10 12 14 16 18 20 22

What are the solutions of the compound inequality? Graph the solutions.

47.

48.

49.

50.

4<2x -4<6

—7<2x-5<5

What are the solutions of the equation? Graph and check the solutions.

[x|+2=1

What are the solutions of the inequality? Graph the solution.

|5x| > 20



